Fitting Instructions - MT-09 Radiator Cheeks

Kit Contains:

Pair of Moulded Glassfibre ‘Cheek’ panels.

Pair of mounting brackets

2 x Open Rubber Grommets

2 x Steel Collars

2 x M6 x 25 Black Mushroom Head Socket Screws

2 X M6 x 10 Black Mushroom Head Socket Screws

Fig 1.

The radiator must be tipped forward off its top two mountings to allow access to install the brackets. To do this
remove the two top radiator mounting bolts. Take care not to lose the large washers. The radiator will now
pivot forward on its bottom rubber mounting.

Fitting the brackets

The custom made brackets will only fit in one position — see fig 1. (They are shown in white for clarity).

There are four bolts on the back face of the radiator to remove, two on each side, using a 10mm ring spanner. Take
care to note which bolt fits in each mounting as there are two different lengths — Replacing these bolts in the wrong
position may result in damage to the radiator body.

Note: On the right side of the bike the lower of the two bolts is the correct one.

When locating the brackets make sure they are positioned underneath the original brackets. ie: next to the radiator
face. Assemble all four mountings loosely at first. The top two mounting points are difficult to align due to the
limited access. - Try using the short end of an allen key poked in the hole to align the parts before inserting the bolt.
DO NOT force a bolt in at the wrong angle and cause it to cross-thread. This can result in serious damage to the
radiator.

After tightening all four bolts the radiator can be re-mounted, re-attaching the top two fasteners (make sure the
bottom rubber mounting is in the correct position.

Fitting the ‘Cheek’ panels.

First install the open grommet into the large hole on the return edge. Now push in the steel collar. This mounting
point is secured using the M6 x 25 mushroom head bolt. The lower fixing on the side face uses the shorter M6 x 10
bolt.

With these two bolts loosely in position establish the correct position on the edge of the bikes fairing and stick the
‘Velcro’ pad in place. -The fairing face must be clean and dry.

Finally tighten the mushroom head bolts to complete the installation.



